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Find "a", "r", and "'t,"" for the following sequence!
3 =
=64, 1, =4
® 6
-(_3 = ar {1-_ a(
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Questions from Homework

a= 3 =™
TR )
b2 -3



Rrithmetic Sexies

Series: The sum of the terms of a sequence. The
sum 1is usually finite: 1+2+3+4+5. However

it could be infinite: 2+4+8+16+... You can
find the sum of many finite series and certain
types of infinite series by using formulas.

S = %(251 +(n=Dd)

; 14 \
JSH = —(CI +IH)
2


http://www.ucl.ac.uk/mathematics/geomath/level2/series/ser2.html

on"
Find the sum of the first 100 terms of the
arithmetic series _1+4+7+ 10+...

5(2(:: +(n—=1)d)

S = 100 (301 + (lo0- D)

- (2« %(3)3
- so(a)

=(49%0]




Find the sum of the following series

| 3
l+1+—+2,,,++20
2 2

Hint: How many terms are there?
a="7 38
d=1% 'Eng q"'(ﬂ"\

t, = 20 %"‘.L-\-(ﬂﬁ@s»

n= 40




How many terms are in the series:
3+8+13+...+248 1f 1ts sum 18 62757

n
Sr = —(a+t
H 2 ( i )
15 = %( 2 +HR)
N5 = %(asb

B = Hln
3

Poln = R0




Find the indicated sums of the following
series:

S, of 2+6+10....
a=2  Sg= '%(b(a%(\s-b(m
d=y4
n=19 = %(‘\ +\4 ('-\)3
- %(4 +‘563
)
- 5.60)

Sy of-15-10-5+..u

G=-15 S = ?§ (BG\S) + (30—\)(5)3
d=5
30 = 10 (30 + PEY)

= \0('%(%0\‘5)
= \0(&)
&0

159
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